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EXERCISE 12C

INDEFINITE INTEGRALS INVOLVING EXPONENTIAL FUNCTIONS

1. Find integrals of each of the following:
(a) e4x (b) €4x+1 (C) e—x
(d) e3x +e-2x (e) Sel-—éx (f) 6e4—x
x e2x _ e—2x (1) 1
(g) e2 ) —5 3%
: 2 2x ~ 05x
(]) X" +e (k) \/;"l'.)e > (1) 5__6%
2. Find the following indefinite integrals:
@  [3e¥dr ®)  [2xe”dx ©  [-sedx
@ [6xe* dx @  [G-2x+et e () [xedx
@ [ox'e (h) (x +1)e* ¥ : 2dx
| J O [
@ [e=ax ® [V O ) ax
kx ~-kx X 3x x
(m) e + e dx ) je” g ©) je e-s: e
1 P MY < 1
® e @ [Eds I R
dy NErs)
3. Find the equation of the curve for which = = if the curve passes
Vx+
through the point (0,1).

4. Show that %(xze"z) =2xe* +2x3%* . Use this result to find f x3e* dx.




ANSWERS

1. (constants of integration omitted)
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